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1. wR REPRE [ ARG R wE Saws b
Sfeieat 1x5=5

Find out the correct answer from the following
alternatives in each question :

(@) ~T7T CRTCB! FRANTS B T ?

Which one of the following is not
quantitative data?

) T IR <A _
Weight of a person

(i) S Freg fm
Sex of newborn babies



(2)

(iii) AfeCs e IfeT wm
Number of persons per family
(iv) TR RS M s TR

Percentage of marks in English

(b) <O Tome W™ i @ =, ;W
A distribution is said to be skewed, if
(i) G =N = IS
mean = median = mode
(i) P = TGAT £ IFE
mean # median # mode
(ii) NG =GN =ITF < 0
mean = median = mode < 0
(iy) TG =TGN =IFF = 0
mean = median = mode = 0

(c) <1 THR Bl vYLF T W
The second quartile of a distribution is

same as the
() R e
-2nd decile
(i) A
medlian
(ii) 259 *TOR*H
25th percentile
(iv) 759 *CINE
75th percentile
20P/457

( Continued )




(3)

(d) FFE TTEE BN N ¥R
The range of simple correlation coefficient
is
{ii Otoe
(i) —ootoeo
(ii) Oto1l
(iv) -1lto+1

" fe) T ryy >0, =B
If ryy >0, then
i) Cov(X,Y)=0
iy Cov(X, Y)<O
(iii) Cov(X, Y)>0
(i) Cov(X,Y)=-(ox-ay)

2. TS AR Tex fum : 2x5=10

Answer the following :

(@) <61 e Reweiaa MoR PR for |

What are the characteristics for an ideal
measure of dispersion?

(b) T T @ TG TG o[ 5 TAAE
W CTFA 0 |
Prove that algebraic sum of the deviations
of a set of values from arithmetic mean is
Zero.
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(c)

(d)

(e)

3. (a)
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(4)

W MR AP ARA AR (R
3X+2Y =26 U¥F 6X+Y =31, ryyd 9
Bforear |

Two random variables have the
regression lines 3X+2Y=26 and
6X +Y =31 Find ryy.

TR BN N ferean
Derive the limits of correlation coefficient.

1 &1 (RS 4T FLAN SF YE TN
="
When are two attributes said to be

positively associated and negatively
associated?

oo fARIRT IR ] : 3x3=9

Explain the following :
(i) TRIECF HF SPROF S
Quantitative and qualitative data
(i) 4R AR SR Torgrom
Graphical representation of data
(iii) TRF EF FREE T

Nominal ang ordinal scales of
measurement
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(S)

JY4qr/ Or

(b) TS 7 THACOR PR (i) STOLF 16T (ORI AF
(ii) OTSLF A (TR LI B I HF OF
o1 WRHH Refy 7 3+3+3=9
For the following distribution, draw
(i) more than ogive and (ii) less than ogive
jointly and hence find the median :

Weekly wages : 20-40  40-60. 60-80 80-100 100-120
No. of workers : 8 12 20 30 40

Weekly wages : 120-140 140-160 160-180 180-200
No. of workers : 35 18 7 S

4. (a) TR NG, LNE N A [WGF MY e &
7 et

IRIPTR T T (RS A
AM > GM =z HM. 3+3+4=10

Define arithmetic mean, geometric mean
and harmonic mean. Write the uses of
them. Prove that AM > GM 2 HM.

wYq / Or

Rewi e & @2 Resaer TP T=-
b RS S T |Wﬁwwwﬁwm
T 9 | ST &
T S e
m| 2+2+2+4‘10
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(6)

What is dispersion? Write the names of
different measures of dispersion. Explain
the main difference between mean
deviation and standard deviation. Show
that standard deviation is independent of
N change of origin but not of scale.

5. (a) () I AT TTA QNI A B |
C{SA A T QT FARY oF Tl
ARTER fFaeors | 2+3=5

Define Karl Pearson’s coefficient of
correlation. Show that correlation
coefficient is independent of
change of origin and scale.

(i) ST TR R i 96 Rss 75
IS (S @

N2 ~N3’a3
Vi-n)%- r23)? 2+3=5

Nna.3 =

Define partial correlation
coefficient. For g trivariate
distribution, show that

N2 =N3ara;
E=r3)% (1~ ryy)2

N2.3 =
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(b}

6. @ T
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(7)

51/ Or

(i) TRIA AP IR CFAS Prew I
FFRSCO! AR T4 | y = a+ bx + ox? fawrs

SRAECH! PG FI I3 TR AR
3201 foran | 3+2=5

Explain the method of least
squares for fitting of a straight
line. Write the normal equations
for fitting of the second-degree
parabola, y = a+ bx + ox?.

(i) 51 DR NI TR AN 7o o
R @I GO ABFRZP WP ¥ | 2+3=5

Write the two regression equations
for two variables and estimate the
constants of any of these
regression equations.

81 A IF BT IR0 MR v6TR TrER

741 | €% 1 @R IR TogoR TR |
3+3=6

State the conditions of consistency for

two attributes A and B. Give the criterion

of independence for these two attributes.
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(8)

R)qr/ Or

(@) fan = (Al=(0t)=(B)=(B)=(c)=(Y)=g
SIF (ABC) = (0fy), (e 1
2(ABC) = (AB) +(AC) +(BC) - ?N

Given (4) = @) =(8) =)= (C) =) = ¥ anq
(ABC) = {(0fy), show that

2(ABC) = (AB) +(AC) + (BC) - g

L8 &
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